Hanslope Primary School 

Written Addition and Subtraction Policy
	Foundation
	Year 1
	Year 2
	Year 3

	A whole range of visual and practical opportunities are modelled by the teacher and practised by children.  Activities are linked to role play and real life skills.   

Simple verbal word problems.  There are opportunities for pupils to record voluntarily in writing: e.g. ‘ If I have 6, how many more would     I need to make 10.’ One less than 5 is …?
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Pupils to find the difference between two single digit numbers from visual stimulus- encouraging counting on.
e.g.  ooooo         00

        oooo           000

Number rhymes and songs


	Children need to understand the concept of equality before using the ‘=’ sign. Calculations should be written either side of the equality sign so that the sign is not just interpreted as ‘the answer’.
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Learn number bonds to 10 and 20 in several forms:  (9+7=16: 16-7+9; 7=16-7)
[image: image4.png]94+?2=10 ?+9=10




Share the ‘story’ of 5,6,7,8,9 and 10.

Children have access to a wide range of counting equipment, everyday objects and number tracks. Pupils combine and increase numbers, counting forwards and backwards.
Count back in 1s from 20 to 0

Count back in 10s from 100 to 0
Count on and backwards in 1s from a given 2 digit number.

They should discuss and solve problems in familiar contexts, including quantities and measurements.
 Number lines
The teacher will model drawing jumps on numbered number lines to support understanding of the mental method.
7+ 4
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Subtract one 1 digit number from another by counting on. 

9 – 6 = 3

                              +3                        


6                   7                       8                    9

Extend to counting to next 10  e.g.

10 - 7   = 3   

                                +3 



  7                  8                      9                  10  

They should be taught the effect of adding or subtracting a zero (explaining the movement of the digit- not just ‘add a zero’- this affects later work with decimals).
1 more......        1 less
10 more......     10 less
Add and subtract one and two digit numbers to 20- including zero. 
Add three 1 digit numbers, spotting doubles or pairs to make 10.

Count forwards and backwards in 10s from any given 2 digit number.

Add 10 to any given 2 digit number.

Use number facts to add 1 digit numbers to 2 digit numbers: e.g. use 3 + 4 to work out 24+ 3, 34+3 
Use number facts to subtract 1 digit numbers from 2 digit numbers: e.g. use 7-2 to work out 27-2, 37-2

Language should include: put together; add; altogether; total; take away; distance between, difference between, more than, less than.
Work towards using both operations flexibly.


	Children have access to a wide range of counting equipment, everyday objects and number tracks, gradually moving away from concrete representation to mental and written methods. By the end of the year, pupils should be able to calculate without any equipment. 
Pupils combine and increase numbers, counting forwards and backwards.
Make related number sentences and begin to record inverses using concrete objects and pictorial representations, including those involving numbers, measures and quantities. Use the inverse to check calculations.
Understand that addition of any two numbers can be done in any order. (commutative) and subtracting one number from another cannot.
36 + 28 = 64

28 + 36 = 64

64 – 36 = 28

64 – 28 = 36
Pupils need to understand that = means “the same as” and that a missing number can be shown as ( or (.

Continue to use calculations either side of the equality sign and use missing numbers:

e.g. 
28 + ? = 64

64 - ? = 28  

64 = 36 + ?
Number lines/100 squares
To continue using number lines and 100 squares when adding and subtracting numbers to 100 until secure. 

Partition into tens and ones and recombine

32 + 67 =  99
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        30 + 60  =   90 

          2 +  7  =     9
         90 +  9   =  99
Learn number bonds to 100.

Apply number bonds to larger numbers e.g.:

40 + 60 = 100  etc.
Bridge 10’s using number bond knowledge and counting on.
56 + 7 =

56 + 4 = 60 + 3 = 63

Add two or three 1-digit numbers.
Add I digit number to any 2-digit number using number facts.

Add 10 and small multiples of 10 to any given 2 digit number.

Add any pair of 2-digit numbers.

Begin to understand that rounding can be used to check whether an answer is correct.

61 + 29 =  (60+ 30)- answer should be close to 90.

Find a small difference by counting on or counting back:
42 – 39 = 3 

           +1                        +2 




39          40                                           42
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Use known number facts and place value to subtract 

Partition second number only
33-12

33- 10 = 23 – 2 = 21

Know pairs of numbers which make each total up to 10.
Complementary addition (Summer Term only:
47 – 12 = 35

       +8           +10        +10          +7


12           20           30          40          47

Add and subtract numbers using concrete objects, pictorial representations and mentally, including: 

a two-digit number and ones

a two-digit number and tens

two two-digit numbers

adding three one digit numbers.

Continue to use language including: put together; add; altogether; total; take away; distance between, difference between, more than, less than.

	Make related number sentences and begin to solve ‘balancing problem’.
Introduce expanded method in Spring term.
Teach children to use number line in heads and jot down key numbers.
Partition into tens and ones and recombine

Partition both numbers and recombine. 
   
[image: image8]
Refine to partitioning the second number only e.g. 

36 + 53 = 53 + 30 + 6 

             = 83 + 6 

             = 89 

Find a small difference by counting on
Continue as in Year 2 but with appropriate numbers e.g. 102 – 97 = 5 

Use known number facts and place value to subtract 

Partition second number only

47 – 12 = 35

47 -12 = 47 -10 -2

            = 37 – 2

            = 35       

Complementary addition

154 – 72  =  82 

        +8         +20         +50         +4



72           80         100          150         154

           50 + 20 = 70

            8 + 4    = 12

           70 + 12 = 82
Continue to use a number line for subtraction.
Extend to HTO:
Pupils should use knowledge of place value and partitioning to solve calculations with increasingly larger numbers.
Either partition both numbers and recombine or partition the second number only e.g. 255 + 137 = 392

200 + 100 = 300

50 + 30     =  80

5 + 7         =  12 

300 + 80 + 12 = 392  

     OR                        

   255 + 137  =     255 + 100+ 30 + 7       

                   =    355 + 30 + 7

                   =    385 + 7        

                   =    392        
Complementary addition (with or without number line)
754 – 86  =  668

86   +4    = 90

       +10  =100

       + 600 = 700 
       + 54   = 754

4+10+600 = 614+ 54 = 668

(Introduction to column method)    


Hanslope Primary School

Written Addition and Subtraction Policy
	Year 4
	Year 5
	Year 6

	 Add and subtract numbers with up to 4 digits using columnar addition and subtraction where appropriate. Estimate and use inverse operations to check answers to a calculation.

Partition into hundreds, tens and ones and recombine

Either partition both numbers and recombine   or partition the second number only.

Column method
Add the least significant digit first in vertical calculations- continue to practice during Autumn term.
Introduce traditional written methods from Spring term- see Abacus Scheme for examples.

Subtraction: Autumn Term use a number line.
Spring term onwards use traditional methods- see Abacus Scheme for examples.
Extend to decimals in the context of money. 

Extend to numbers with at least four digits: 

3587 + 675 = 4262 

Extend to ThHTO-HTO and decimals to two places. 


	Add and subtract whole numbers with more than 4 digits, using formal written methods.
63+34  (60 + 30 and 3 + 4)

Formal method for written addition:

                                   63

                                 +34   Add ones first  (3 +4 = 7)

Language should then be 6 tens + 3 tens which = 9 tens.
If the child has a solid knowledge of place value they will then be able to see that the answer is 97.

Extend to more than 4 digits.

When the number is more than 10:

e.g.  487

    +  136   add as before

                           7 + 6 = 13 which = 1 ten and 3 ones  We write the 3 in the ones column and the 1 (10) under the tens column to add onto our answer. We then add the 8 tens and 3 tens which = 11 plus the 1 ten we had left over from the previous column = 12 tens . The 2 goes in the tens column and the 1 goes under the 100

e.g.:   487

         +136

   1 1
Add 2 or 3 (or more) numbers and up to 3 decimal places.
Add fractions.
Formal Method for written Subtraction:

 Use compact or expanded column subtraction to subtract numbers with up to 5 digits.
  37

-25      Start with the ones.  (7-5 = 2)

  12      3 tens take away two tens is 1 ten

Therefore the answer is 12

  43

-18       3 from 8 (unless it becomes negative which will not help   us in this calculation) cannot be done so we partition the

            40 to 30 and 10. We can then exchange this ten for 10 x 1  

           and add it to the ones. Therefore 3 is now 13 and the 40 is

           now 30.

   34 13         13- 8 = 5

 -  1   8       3 tens minus 1 ten = 2 tens   

    2   5

Both methods can be extended to bigger numbers once they are secure.
Subtract using fractions.

Introduce BODMAS
              
	Pupils should continue to practise formal written methods of columnar addition and subtraction.
This should include the inclusion of zero in the bigger number for subtraction:

e.g:   5906

       - 2458       

         5 89 91 01 6

       - 2  4    5   8       
         3  4    4   8

Knowledge of the order or operations should be taught and used to carry our calculation involving all four operations. 

Aim for fluency and speed in all calculations. 


32 + 67 





30      2     60    7





36 + 53 = 89 








36 + 53 





30      6     50    3





        


          6 +  3  =     9


       30 + 50  =   80


        80 +  9   =  89
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